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How does 01° "2 2nxY 1Pw17°p operate? 703 137 allows for SEPERATING the Lunrp owyn
from the m%n. But this is so ONLY because 702 117 allows for separating the 70377 n9ws
from the PwITp wyn. The Ao37 n9ws MUST still occur [exist] at the time of the nvn.?

! And the initial 7wyn with the mvp IS the PwITp Twyn — requiring 2’7y, “NR 17" etc.
? That is to say — the wyn can only be “partially disconnected” from the m¥n — not “fully disconnected”
from it. A “full disconnection” is the essence of 11°3p 7n>.
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Not effective by all o°1°1p.
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? Le. at the end of 30 days.
* That is the X377 in her not having to return the 103. Perhaps we can explain that at the end of 30 days it is
now CLEAR that the qo5 given initially 121772 can operate as such-and will not be turned into a 7x1277. So
too with 2x:7 "1 this level of clarity is achieved. And the 70> which IS Pun7pb still has real effect for non
> See similarly:
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The difficulty with this view of the X"2w":
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The v"173, expanding on an idea found int :7 MWK N13277 7717 7Iwn -explains:

On a more fundamental level we can explain that — 703 71p “works” thru the provision of (mutual) 7837 —
without getting into the issue of whether it represents “1197°9” or not- therefore when the X171 occurs the 1°1p
is 71 and this can be at a time separate from the 7wyn. Other r1p like n3°wn “work™ by representing the
assertion of nova -THEREFORE they must do so IN REAL TIME — and the n>n1 must occur
simultaneously. The nwyn of 703 1P demarcates an “agreement” between the parties — The nwyn of 73wn
etc demarcates [and demonstrates] a change in myva.
Note — Theoretically — if we invoke the idea that 703 117 by 191 = w70 - we could even be ponn within
q03 1P between 101 and PwTR [assuming that PwTp 103 are NOT nvas].
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57 PYATOR A02 3"RWA L1777 K1 2PN AN YO NN A0 L20pw PR XY Y97 X112 1091 10117 YO 1w
MDY 17 IR 102 0919 72 HY YDT K13 03 L9130 whDY 1vw R IR A00 107
I.e. 751 =remuneration or barter [just using money not another valued object] therefore the process of
transferring the purchased object and transferring the money is simultaneous and the 7wyn and M%n can’t be
separated in time. P17 is a 1Ip that creates a T12y°w or signifies an agreement, NOT a “payment” in kind
270K,

" Le. we enter here in to the problem of 1912 w7pn IF we want try and view the P17 as being 91 when
hiraiiniaminhin

¥ Le. she has no 7 for PP, and her “Twyn” is meaningless — only that of the X is meaningful- EVEN if
he can empower her “up-front” to accept PUITR - TWITR 2221 °RY 710 127 2R MR, Only with that
empowerment can she be seen as having a 7°, therefore in our case it is 77317 as ¥"225w7.
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Similar principles operate here:
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Does our X°x10 imply support for a &"aw--like approach?
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IF, according to 7X1mw1 21 the wTR% 7 rests solely with the 2R, then EVEN IF
“awo1 R wIpT” still it is completely the actions of the 2X that are wipn her!!!

What about 0w IR 7R°2 *w17°pa?
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U nwmpn arx

Apparently 7x°2 *u17p wouldn’t work- it certainly seems to operate via the assertion of
m>y3a — therefore 1°3p N2> WOULD be a problem. Perhaps we could argue that &1 is
unlike 72°wn or MWW — 7R WD creates a MR*xn'? of N19ya not a 77 of Mvva. It

? Compare:
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121 e. at the end of 30 days.
' And this makes sense on our “more fundamental level”- i.e. a 70w serves to demarcate a change in m>y2.
"2 Le. = mwyna mo. See:
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It’s source[s] in the may bear this out:
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represents REAL m%v2 and may be immune to the problem of 1°1p 7095 = it still is 2319 at
the time of 2x7 ¥

Another 0°w accepting the same idea - that a 7710p has a 7 for Pw17P and

performs a valid PwTp Twvn.
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When can we say: “@17°92 IR 0¥ 178377

Might carry us into the X*210 of N¥7H ROW WIN°.
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13 1.e.19%1% the 7" rejects the view of X1 21 — he holds that X7 argues with Y% 27 in 77- [i.e.
2R M%7 can’t function ¥197Y in this case to create a valid PunT°p]. Therefore 70777 we have no evidence
from the 7" that 779577 a mavp has a 7° for 1w17p and performs a valid wTp Wy,
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[See also 2°:71 -9w° "Mww]

:21m2

Overall we have 2 possible ways to understand our X°x10 according to the 7".
1] The 70> of the npY7nn between 2X1aw 27 and K7W, according to the 7", essentially

parallels the nPYomn of X2 3K regarding Ny xow v,

4 And ¥735 the 7w X7 NY7 in TYITR 1S a passive XMl
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A) PRIMWT 27 = R27- 192 RNIT2I2 30 .
B) X?w ="K - D¥192 RNIN°IT RAONW 110V,

2] The 7o of the nP17rn between PRI 21 and X7 according to the 7" revolves
around the 77737 of WXA NYT in PYITR- 1S 1t
7aWnN-7IND [active & potentially M creating] Or 71722077~ XNIT°1 [passive acceptance]
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Continued among the 2°1MX:
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' But see:
2 TIAY ¥’ A7 N> noon *"'w)
YW ANV (72 ©°727) IR WRY A0 7370 - RAOYT PRI
However this seems not to represent a contradiction in *"w". Rather 7nxn — which is being dealt with in
Mn2> noon- is different-{X 7Y 1 A7 PYITR } ... AT APIPN ORI, MR IR
Hence the concept of 7717 Nv7 11°v27 may not be applicable and a special 7°% is needed to teach the need
for nv7 —7¥7 -even here.

1 See:
2 9°Y0 19 12°0 PRATR M920 Y 1R T W
SOMIP? IR O, MWN2 IR 37,020 DX O, 001K IR I, TR IR O, NRIPT AR T NWR DR 20 172 0 (2)
WD 112 R2W 917 IR IR WORT 22X (2" 1"17) PWITR Op0ova 1900 1727w IR L1127 7020 OX A WP
.(®"X77 owa °") TR
17 I.e. we need o1’p *7v on the complete nwyn of Pwr7p!!! Isn’t the 7w Rn Ny7 a crucial component?
18 I e. cases where a *Xin in the YR exists.
' A similar question — why does the X3 reject the proof that 2727 1°X 292w 0127 based on the presence
of a °Rin in this case- rather simply say “we need 01°p ¥ on the complete 7wyn of Pw17p!!! Isn’t the
7w R N7 a crucial component? And here we only have 272w 0>727!”
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How would he deal with the questions of the 2°X17 *1ar?
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According to this understanding of the 7"> does our X°x10 then imply that all these
XX follow X29- that
Ny XOW WX is a functional w2 I

Perhaps we can separate 2> from 7w°X71 nwT in Pw1Tp based on the following™:
2 7Y 21 77 PYITR 120K °222 79N
RITN 2NON Y ORAK 1Y K LPAOWR RIDWT 7771 RNR ,RIDPWT X179 WITRT X070 R
TR TX°D 1R2INT ;7272 AN PIYH ROR - M9 DXXR 799 10K R MR LRAT HPY ROR 289N
DWW WY OR ,MWI2 KW 27N LRV 12N ATW TIND TV 077 27200 101N DY TR KXW 20N
X2W °777 2987 OK 213 DWW WWIN OR YT 377 17327 ,70190 M0 - IRD OKY L0190 100 PR - 91
AN PR - IR? ORY L7210 0NN - DR MDY IRYAL AR ,NIDY DER 772 17 AR IR¥AY 0027 Hva
,2T2VT R RDID®D DIWR KT 22X 571170 11N T3 P TD 172 - 2997011 2°0pYn 0°HYaT 1R ,amn
21 nwmipn N

2% 1.e. can we apply the logic of the 7" to N1 — even if we don’t necessarily accept it in the particular

case he is discussing.
2 Qee:
2 7MY 2177 PYVITR Noon "'
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2 Even according to the opinion WX "7 X% N7 XYW WIN®.
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vIX® = a direct result of 712°X and occurs only 2”2 —secondary to an inevitable reality not
an act of voluntary acceptance. Therefore *aX holds it cannot be said to exist BEFORE
the reality of the 72X is known.

YR NYT or 2K in PY1TR = Can certainly be seen as something the 28 WOULD have
expressed even before he formally knows of the reality of the 1"w17p. Here we can say that
IF he were to think actively about the 7217 —at any point in time- he would be 2*50n.

Even by 70w X X2 *w11°p — the concept of “w1°52 AR 7¥7N1 1985” should operate.
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